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Section : English Language (Basic Knowledge)

Q.1 Select the most appropriate segment to substitute the underlined segment of the given sentence.

In the jungle, | saw a group of lions.
Ans x 1. a school of lions
2. a herd of lions

3. a pride of lions

X § X

4. a flock of lions

Question ID : 8161612951
Status : Answered
Chosen Option : 3
Q.2 Select the most appropriate synonym of the given word.
INTEGRATE
Ans x 1. Disappear
x 2. Divide
J 3. Unite
x 4. Increase
Question ID : 8161612961
Status : Answered
Chosen Option : 3
Q.3 Select the word which means the same as the group of words given.
A situation in which many people leave a place at the same time
Ans x 1. Mitigation
x 2. Immigration
x 3. Navigation
J 4. Exodus
Question ID : 8161612959
Status : Answered
Chosen Option : 2




Q.4 In the given sentence identify the segment which contains the grammatical error.
The Commonwealth Games had a grand opening ceremony with spectacular cultural performings.
Ans
x 1. a grand opening
J 2. cultural performings.
X 3. with spectacular
x 4. The Commonwealth Games had
Question ID : 8161612941
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and other
ilinesses. Various studies carried out in Delhi reflect the correlation between air pollution and its
(2) impacts.
To tackle the problem of air pollution, a number of measures have been taken in the past, such as
switching to (3) fuels, tightening vehicular emission limits, phasing out of old vehicles and
maintenance of in-use vehicles, closing or relocating (4) industries, plantation activities etc.
However, a lot more still needs to be done if the capital desires to (5) clean air.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank number 1.
Ans 4
« 1. responsible
x 2. responding
X 3. responsive
x 4. responsibility
Question ID : 8161612944
Status : Answered
Chosen Option : 1







Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to
(5) clean air.

SubQuestion No : 6

Q.6 Select the most appropriate option for blank number 2.

Ans x 1. rough

x 2. long
o 3. health
x 4. illness

Question ID : 8161612945
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to
(5) clean air.

SubQuestion No : 7

Q.7 Select the most appropriate option for blank number 3.

Ans J 1. cleaner
x 2. immaculate

x 3. righteous
x 4. guiltless

Question ID : 8161612946
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.

To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to
(5) clean air.

SubQuestion No : 8

Q.8 Select the most appropriate option for blank number 4.
Ans X 1. pollute
x 2. pollution
X 3. polluted
J 4. polluting
Question ID : 8161612947
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Increasing levels of air pollution are (1) for higher incidence of respiratory diseases and
other illnesses. Various studies carried out in Delhi reflect the correlation between air
pollution and its (2) impacts.
To tackle the problem of air pollution, a number of measures have been taken in the past,
such as switching to (3) fuels, tightening vehicular emission limits, phasing out of old
vehicles and maintenance of in-use vehicles, closing or relocating (4) industries,
plantation activities etc. However, a lot more still needs to be done if the capital desires to
(5) clean air.
SubQuestion No : 9
Q.9 Select the most appropriate option for blank number 5.
Ans

Question ID : 8161612948
Status : Answered
Chosen Option : 4

Q.10 Select the wrongly spelt word.

Ans

x 1. Attacked

J 2. Clearify
x 3. Provision
x 4. Promote

Question ID : 8161612957
Status : Answered
Chosen Option : 2







Q.11 Select the correct indirect form of the given sentence.

Roshan said to me, "Sandeep made a new year greeting card for his teacher".
Ans J 1. Roshan told me that Sandeep had made a new year greeting card for his teacher.

2. Sandeep made a new year greeting card for his teacher said Roshan.

3. Roshan was saying that Sandeep made a new year greeting card for his teacher.

X X X

4. Roshan said Sandeep had made a new year greeting card for his teacher.

Question ID : 8161612940
Status : Answered
Chosen Option : 1
Q.12 In the given sentence identify the segment which contains the grammatical error.
My domestic help was taking ill the day | had a party in my house.
Ans x 1.in my house
J 2. was taking ill
x 3. My domestic help
x 4. the day | had a party
Question ID : 8161612942
Status : Answered
Chosen Option : 2
Q.13 Select the most appropriate meaning of the given idiom.
Rub the wrong way
x 1. Rub well without oil
x 2. Please someone
x 3. Rub incorrectly
J 4. Annoy someone
Question ID : 8161612956
Status : Answered
Chosen Option : 4
Ans
Q.14 Select the wrongly spelt word.
Ans J 1. Interfear
x 2. Selection
x 3. Acrimony
x 4. Electorate
Question ID : 8161612958
Status : Answered
Chosen Option : 1







Q.15 Select the word which means the same as the group of words given.

To laugh at something in a cruel way

Ans J 1. Deride

x 2. Decide
X 3. Defy
x 4. Deprive
Question ID : 8161612960
Status : Marked For Review
Chosen Option : 1
Q.16 Select the correct passive form of the given sentence.
| use jaggery to sweeten my tea in winters.
Ans x 1. In winters jaggery was used by me to sweeten my tea.
x 2. Jaggery is being used by me to sweeten my tea in winters.
x 3. I have been using jaggery to sweeten my tea in winters.
J 4. Jaggery is used by me to sweeten my tea in winters.
Question ID : 8161612939
Status : Answered
Chosen Option : 4
Q.17 Select the most appropriate word to fill in the blank in the given sentence.
The entered the house in disguise saying his uncle lived there and robbed the place.
x 1. technical
x 2. technique
x 3. technicality
J 4. technician
Question ID : 8161612963
Status : Answered
Chosen Option : 4
Ans
Q.18 Select the most appropriate ANTONYM of the given word.
INCITE
Ans J 1. Restrain
x 2. Provoke
x 3. Appeal
x 4. Instigate
Question ID : 8161612954
Status : Answered
Chosen Option : 2




Q.19 Given below are four jumbled sentences. Select the option that gives their correct order.

A. In India, forests are huge catchment areas for rivers and streams as they help in storing
water.

B. If these forests continue to be felled indiscriminately, rivers and streams will dry up
leading to drought.

C. Due to this many states are facing shortage of water in the summer months.

D. Unfortunately, these dense forest areas are disappearing.

Ans X 1.DCBA

X 2.ABCD
X 3.capB
.’ 4. ADCB

Question ID : 8161612950
Status : Answered
Chosen Option : 2
Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.
Why did the teacher ask all four ofyou to stay back in class in the break?
Ans x 1. asking four of you
x 2. asked of four of you
x 3. ask you all four
J 4. No improvement
Question ID : 8161612952
Status : Answered
Chosen Option : 3
Q.21 Select the most appropriate words to fill in the blank in the given sentence.
I dislike people with who say something and do something else.
Ans x 1. many roles
X 2. strange achievements
J 3. double standards
x 4. multiple relations
Question ID : 8161612964
Status : Answered
Chosen Option : 3
Q.22 Select the most appropriate synonym of the given word.
TOLERANCE
Ans J 1. Endurance
x 2. Aggression
x 3. Oppression
x 4. Impatience
Question ID : 8161612962
Status : Answered
Chosen Option : 1




Q.23 Given below are four jumbled sentences. Select the option that gives their correct order.

A. However, in today's ever changing world, power looms are replacing the traditionalhandloom
textiles.

B. Handloom refers to the use of wooden frames of various kinds by skilled artisans toweave fabric
from natural fibres.

C. One of the most prominent among Indian handlooms are Banarasi textiles.

D. Banarasi textiles are made with gleaming gold threads and weaving techniques as old astime.

Ans x 1. CDAB
J 2. BCDA
x 3. DBCA
x 4. BDAC
Question ID : 8161612949
Status : Answered
Chosen Option : 2
Q.24 Select the most appropriate meaning of the given idiom.
Not mince (your) words
J 1. State your opinion clearly
x 2. Not to have clarity
X 3. Eat a lot clumsily
x 4. Say words that are confusing
Question ID : 8161612955
Status : Answered
Chosen Option : 1
Ans
Q.25 Select the most appropriate ANTONYM of the given word.
DISABLE
Ans x 1. Refuse
J 2. Permit
x 3. Disapprove
x 4. Disallow
Question ID : 8161612953
Status : Answered
Chosen Option : 2




Section : General Intelligence
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Question ID : 8161612982
Status : Not Answered

Chosen Option : --

Q2 =3 fawed &1 9 FY, S wedl & 9 7@ FEw §, S FEY RU A0 39 F o F 99
Ao : Rffwew

Ans X1 7y AEEr : fAfdwem
v 2 e e AR
X 3 AT : FeHoR
X 4 gl : tRweR

Question ID : 8161612979
Status : Answered
Chosen Option : 2




Q3 FAH F TF ¢S F ASA F FA AR W THER § qI I FAA FIeT T, 30 A & S
It & T 1T ¥ W A R Tg FESH HAT @S 9w

Ans

Question ID : 8161612987
Status : Answered
Chosen Option : 2
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Question ID : 8161612972
Status : Answered
Chosen Option : 2

Q5 36 REed & 909 FY Pwe dOY eR-Tag ¥ I8 §EY § S FEY @Y MRT-UHE H TR HEH-UAE
Ans T F|

DASH : FYUF :: BOARD : ?

DMCPF |
ZPCLZ,
ZQYTB,
DQYBF,

X X X

Question ID : 8161612975
Status : Answered
Chosen Option : 1
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Question ID : 8161612985
Status : Answered
Chosen Option : 1
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Question ID : 8161612988
Status : Answered
Chosen Option : 4

Q8 37 Rpew @1 wu H, s Tt F 99 @ wav ¥, S FEu R v dEa-gea & semt &

a2
8:36

Ans X110 : 42
X26:24
x<34:8
V412 :78

Question ID : 8161612967
Status : Answered
Chosen Option : 4




0 @er F A AT F aAE T H q@T F FAT I 2
ANS o1 Rror

X 2 §gY

Voo

X+ iy

Question ID : 8161612978
Status : Answered
Chosen Option: 3

Q.10 a7 g=ow & 2 ¥, B ¥ 9= B 3 R ver mEe ¥ AR ow e ¥ 3w srmEe gew #

TTT FL
Ans X 1. 651

v 2 421

X 3. 725

X 4 853

Question ID : 8161612971
Status : Answered
Chosen Option : 2
e —

Q11 T=ffEe & & Fi7 @ 95T 7 '+’ Thdl & T 9T 70T 3R FA0T 12 + 3+ 6« 8 « 4 = -4

' wgfea Fem?
Ans !1' 2 X’ +) e

xz' X, =8 +s "

x& +5 +: X, -

x4' -:-: K, +1 r

Question ID : 8161612966
Status : Answered
Chosen Option: 1

Q12 3Rt & 58 TOEE F T F, OW & T HER-4Te F Nad T F HAE 79 F @S WG
quT & S|

ab a3 ba_ a  ac
Ans X 1. cbaabcb
v 2. acaacba
/< 3. cabbacb
X 4 abccaba

Question ID : 8161612977
Status : Not Answered
Chosen Option : --




QB3 =g gl &1 907 &Y, S AT TAE TS IFA-ATAT F 3T FAA T A

[e} lo}
00 (e]e] (e]e] [e]e]

Ans

Question ID : 8161612984
Status : Answered
Chosen Option : 4

IR FEA-geA e v §, Sed & &= Ol 7 B ver wea € AR w e €1 39 R we-
TIH F TIF FY

Q.14 3

ame ¥ 576 : 3375,
X 25:216,
X 16: 125,

X 289 :5832,

Question ID : 8161612969
Status : Answered
Chosen Option : 1







Q15 &= =afamat A, B 3 C ¥ 0 $o TRt 2360 &1 A & 9= 3l aauf B &t AR & &, st
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Ans X 1. 3240
< 2 7180
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v 4 %120

Question ID : 8161612965
Status : Answered
Chosen Option : 4

Q.16 v & A o Rfte Trufeat @ axier mr #1 7w A ge B Rela wem @ e v e
HEAT §, 3T EAT 7 994 FY, A FEAT 2 ZAH 9 Gow & [a9a Geled oF g

6 ik
2 T2
Ans X 1. 1
v25
X34
X443

Question ID : 8161612983
Status : Answered
Chosen Option : 2

Q17 ar ey fw v § 9 § 9 B0 7 B 9eR @99 € 3R v R §1 3E s
HE-THE FT T84 H

Ans X 1. DHPFL
X< 2 ABDGN
< 3. BDHPF
v 4 CFLXV

Question ID : 8161612980
Status : Answered
Chosen Option : 2

Q.18 fyhr fafeea 3w wmwr &, 'DESIGN' &' 'OHJTFE' fr@m mar ¥1 36 35T smem # ‘STRONG' r &1
@ FrTe?

Ans X 1. TUSPOH
X 2 HOPSVU
X 3. DOPSKJ
v 4 HOPSUT

Question ID : 8161612981
Status : Answered
Chosen Option : 4







3G AT IRG FT TUT FL, A il & T G99 Fr gatcad o ¥ BT Far @
TETE, s, A

" o%

Q.19

Ans

Question ID : 8161612989
Status : Answered
Chosen Option : 4

Q.20 o fafRea g omwr &, SYNC &' 4417 3R MINT & 2234 Rrmr S1er €1 38 % s F NOSE &
a7 forgr smeem?

Ans of 12924
X 2 1758
X 3 3419
X 4 5729

Question ID : 8161612974
Status : Answered
Chosen Option : 3

3H TEAT F TIS F, A AeATRT HGA H TA-FEA (?) F T T AT Fehar g
Q.21 589, 572, 557, 544, 533, ?

ae ¥ 524
X 523,
X 525,
X 522,

Question ID : 8161612968
Status : Answered
Chosen Option : 1




Ans

5 gET mmaﬂ,ﬁmm#ma.ﬁﬁ(o);mwaﬂ i%l
a22 5 9. 10, 28, 17, 65, ?

X 32,
X 93,
X 78,

v 26,

Q.23 T oW vor affte & wafea 8, 38 SR gy Remer

Ans

X s
v st

X - oo
X+ St

Question ID : 8161612970
Status : Answered

Chosen Option : 4

' F gEra g

Question ID : 8161612976
Status : Answered
Chosen Option : 2







' 7 REew &1 Taw &Y, OrEd & 7wy satiRa ¥

Que

Chosen

stion ID : 8161612986

Status : Answered
Option: 1

e faf¥ea e o #, BOARD &I CMDNI 3 Srer g1 38 e &9 & WHITE &t @ fomr
Q.25 SeET?

as & VFJQB,

v XFLPJ,
X XxJMQz,
X VJFPZ,

Chose

uestion ID : 8161612973

Status : Answered

n Option : 2




Section : Quantitative Aptitude(Basic Arithmetic Skill)




Q1 F=r Ru orv o & e V, Faw VI, FaT VI 3R Fa VI F wswr sk asfEat fr gemr @ gt
I §| TE FITIT F 3R BT 71T 997 T 3eR &

66

65
62
62 61
60
60 59 59
58
58 57
56
54
52

RETT v FET VI FETT Vil FRETT v
=TEE = FEfREr

fovw vt 3, 3% Roe wem 1 gow & wEA B FEw F g v I wgEew
Ans o 1 e VI

X 2 Far V

X 3 e VI

X 4 & VI

Question ID : 8161613012
Status : Answered
Chosen Option : 1

Q2w e #r gFe A, 31,100 MRP arel v aFg & Ge-sel W 3979 & 99 Hod o a4 o T@r
1 38 IFg W & I e ge B dfora F v w)

ans of 1 11%

X2 10%
X3 12%
X4 9%
Question ID : 8161612994
Status : Answered
Chosen Option : 1
G o R F U345 F HIA F T e gl

K eI R
X 2 g B
v > T 0T g

X o gHCaETg R

Question ID : 8161613001
Status : Answered

Chosen Option : 2




Q4 el &1 F wivg R A FF 3 1 5 F wgud F §| 3R e S Fr T 150 @, A wihg = A
g fhae 272

Ans X 1. 60
X2 30
<3120
V4 90

Question ID : 8161612997
Status : Answered
Chosen Option : 4

Q5 2y et @ AT 47 AR 3T O 550 ¥l Ik @i 1 AT AT Ao

s of 11109
X 2 986
X3 1209
X 4 876

Question ID : 8161613004
Status : Answered
Chosen Option : 1

= ——

Q.6 =¥ 2015, 2016, 2017, 2018 # v% weifeR #r ghw Hr ifwa Bfr 716300 ¢, safF =¥ 2016, 2017,
2018, 2019 # zwar sivw= R T18450 ¥ X 2019 F RAr 39200 AN &, & 2015 # freahr A

A

Ans X 1. T768
X 2 T560
X 3. 3865
v 4 T600

Question ID : 8161612993

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q7 v amm # A, sEA FE B AR T F| IER T F ATh 1764 g, A gwh aters e

ans o 184
X2 56
X3 21
X4 44

Question ID : 8161612992
Status : Answered
Chosen Option : 1




3 et F & F AT 3 AT 3AF uet F I F A 999 §1 3% 9 F &= AT AT FL

v 63,
X 386,
x 18,
X 81,

Q.8

Ans

Question ID : 8161613005
Status : Not Answered

Chosen Option : --

40 faee # v BfRaa g 79 == & T vF R 64 km/h H TT F 5T W ¥ 3R ¥ TE T 30
Q.9 Bee & aF & @, ar 3HST =@rer e @ =fge?

X  84.78 km/h,
X 54 km/h,

v 8533 km/h.
X 7465 kmh,

Ans

Question ID : 8161612991
Status : Answered
Chosen Option : 1

Q10 fray auf stk #@T &, 16% T WURT sarr #r e @ 24 T TH TR I 56 @
o i

W8 I 4 mgET
X2 7 a¥ 8 AT
X 3 6 a¥ 5 ALY
X+ 6 a¥ 11 Ag=r

Question ID : 8161612998
Status : Answered
Chosen Option : 1

I tanf + cotf = 6 §, AT tan6 + cot?6 FT AT AT HI|

Q.11

v ¥ 34
X 38,
X 24,
X 28,

Question ID : 8161613008
Status : Answered
Chosen Option : 1
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Qummﬁrwmﬁg a:m; ¥ 7om R femm FRe-wferT #r e

e X 39.34%,
X 59.67%,
v 43.75%,
X 67.45%,

Question ID : 8161612995
Status : Answered

Chosen Option : 2

15 Sin?35 + sin? 55 & AT AT F
1

Xt 7

X 0,

X -1,

v 1,

Ans

Question ID : 8161613010
Status : Answered
Chosen Option : 4

Q.14 ey e oo o &, FaT V, FaT VI, FaT VI 3R wer VIl F dser sk st $ dear @ e
T ¥ T H IHeTTA HE 3N T 7T 92T T 5w &)

66 65
64
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62 61
60
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58
58 57
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54
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HETT v FET VI HEIT il HETT vin
TEE ~wEfear

g Fam A, o f 3RFTH TE=T T
Ans X1 e VI

X 2 & VI

X 3 & VI

v omaT V

Question ID : 8161613011
Status : Answered
Chosen Option : 4




A v FH F 12 7 # 3 B 33 F\ F 16 o # X TFar §1 3R 37 g o 4 A aF wro-
Q.15 T FE AT, & FH F fhder o7 A9 g AeEm?

XL

Ans

X 2.
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Slm ;l‘o Ul w ol

"4.

Question ID : 8161612990
Status : Answered
Chosen Option : 4

U Iz X ¥ S 5 3 Hr T FT RN, I 91 ¥ Remew ¥
Ans /110010

X 210283

X 310192

X + 10101

Question ID : 8161613006
Status : Answered
Chosen Option : 1

uﬁ.’;sinx=§ g, @ Cos 3x & AT AT Y

Q17
we X 05678
v 05797,
X 06735,
X -0.8765,

Question ID : 8161613009
Status : Not Answered
Chosen Option : --










X =2 ++38, ar x*—8x*+16x% F AT AT FI

Question ID : 8161613003
Status : Answered
Chosen Option : 4

45° f

Ans X 1 60°
v 2 80°
X 3. 100°
X 4 450

Question ID : 8161613002
Status : Answered
Chosen Option : 2

TE FIE F 33,060 H a9 § AR gFEEER F 15% @i g , ar 20% T FAA F AT 5W @
Q_zomqummw

X 1 374,650
v 234,320

X 3 23,440
X 4 3,600

Ans

Question ID : 8161612996
Status : Answered

Chosen Option : 2
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Q.21 T Famait #, sl &1 e TE Fw R

as & B7,
v 59,
X 58,
X 60,

Question ID : 8161613013
Status : Answered

Chosen Option : 2

Q.22 & o€ amgpfa &, O Iea F F5 ¥ IR FT PRQ = 64° &, A FI1T OPQ T A e grem?

> £

X 3. 60°
v 4 26°

Question ID : 8161612999
Status : Answered
Chosen Option : 4
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65
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Q.

e X 4.75%,
v 367%,
X 567%,
X 6.12%,

Question ID : 8161613014
Status : Answered

Chosen Option : 2

Q24 g7 gagele wEa 7F F, o § 20 W W, 77 9 FoFA F 2025 I & W @ S 8
Ans X 1. 45

X2 35

v 65

X 4 B5

Question ID : 8161613007
Status : Answered
Chosen Option : 3

Q.zsmﬁmmmﬁ’mmﬁmﬁg (4, 3) 3R (2, 1) &
vix?+y?—2x—4y=5
X2 x?+y?—6x+2y=3

X3 x2+y?—2x—4y=3

Ans

X4 x2+y2—2x+4y=5

Question ID : 8161613000
Status : Answered
Chosen Option : 4




Section : General Awareness




Q.1 R.dt.AgT &t 20 T 2020 Tt YR ST UTET (WTSTAT) & Semet & U H AT AT UTI I8
areTATd ____ Iremer gl

Ans X 1 ared
X 2.e@d

X 3.4
V 4 e

Question ID: 8161613019
Status : Not Answered
Chosen Option : --

Q.2 fasi® & uRuRes Fi =1 (bamboo dance) @t /T gl SITET 82
Ans X 1. a1 am

W 2R
X 3. giman

x 4. 7/ (Maanch)

QuestionID: 8161613018
Status : Not Answered
Chosen Option : --

Q.3 fFafaf@a § @ Fi9-ar aga & grE-whe aren Gfteieae: 391 8, = CPU (%i.d1.g) Hinfa
A1 & et &2

Ans " 1. A% 351 (Main Memory)
X 2. urgadt AHRY (Primary Memory)
J 3. &er AR (CachedMemory)
x 4. Ghsd AERT (Secondary Memory)

QuestionID : 8161613016
Status : Answered
Chosen Option : 2

Q.4 17ﬁmmmﬁ§ﬂﬁm=hnﬁmwﬂmﬁnﬁ?
Ans  of 178

X 2.70

X 372

X 476

Question ID : 8161613020
Status : Answered
Chosen Option : 1




Q.5 WRa & Arefafee § 9§ #19- g d niig wrfarrur sgram sy @ 22
Ans X1 AR

X 2.7

X 3.ag

o 4. Rt

Question ID ;: 8161613017
Status : Answered
Chosen Option : 4

Q.6 ZomE @A A fone af wra & arree aRor off 2?7
Ans (11952

o 21959
X 3.1962
< 4.1957

Question ID : 8161613026
Status : Not Answered
Chosen Option : --

Q.7 3R 2019 ¥ w1ge wEae foft (48 fr) & g afgen wRdta gedars 2 gonddie afgen
ey gadharsht Sfmafag & wora Sfiar wr?

Ans  of 1 s e
< 2. gt A
X 3. sgaar
X 4. iafer aie

Question ID : 8161613021
Status : Not Answered
Chosen Option : --

Q.8 PR o @ o ad 2019 & "vrarE TXern & @r Ara sigya dit aRkfD oz fafear &
sr=ayur gq fog wfermenet @ & forg (for an influential work that with linguistic ingenuity

has explored the periphery and the specificity of human experience)" silee @1fgea QTR &
st fora mar ur?

Ans X 1. arelt srgwe areht
X 2. 3iem e
W 3 d= s
X 4 Prdw

Question ID : 8161613033
Status : Answered
Chosen Option: 2







Q.9 9Rd, FIIH T8I

Ans

Q.10 YT SToIH €7 (Palk Strait) T 8?

Ans

xl.zrs'tr HA AT 3N ARG &F a6 dAT@rg |

«z.ugwmam%,a’rwsﬂvﬂﬁwﬁmm%‘l
xa.a—gqg TR R A F o AT g |
x

4. g AR 3R 91 A o S/ & AT Y@ 8|

Question ID : 8161613029
Status : Answered

Chosen Option : 4

Question ID : 8161613030
Status : Answered

Chosen Option : 2




1 g |

L o

T Y
¥ 3

Q.11 Fafof@a 4 @ e 3u 3 9ad sifRlEF ar 6
Ans o 1 arha
X 2w
X 3. iR (ufdeh onf @
X 4. srtém

Status : Answered
hosen Option : 2

Q12T I I Ueh ATl < BIAT & | S8 Bl T

Ans xl.aar(am
Xom
43.3#@
AP

Question ID : 8161613025
Status : Answered
Chosen Option : 3







Q_13qﬁdmumwﬁuseﬁﬂmﬁajﬁra? HH{{WWT&TIHE’WWHWQ_{?

€ 3

Ans 1.1951
2.1949

3.1952

X X X

4.1953
Question ID : 8161613023

Status : Answered

Chosen Option : 1

Q.14 HRY U T FHUA F F FieT TT HAA TET §? Ans
X 1. ATRTHT 3 T, AThTHT i $9T hT

HHATE

2. I, T THHAT Y T HT FeheT 2|

3. 3T T, FU I T F T T IVE T 7T FT ThT g |

L X X

4. T JUTSA, T T T & TUTT TIHT Y 8737 T ThcT & |

Question ID : 8161613035
Status : Answered

Chosen Option : 1




* i
gf f B i D

Q.15 fA=faf@a d @ fraa sa A-=amarefiar 4
fAFR &t Afers ifdar aifta forar

Ans  of 1 duE dW
X 2. &ua s
X 3.qad. shar

X 48w sER

e N\

~ Question ID: 8161613036
Y' Status : Not Answered
- Chosen Option : -

f

Y
fy
~ o

Q.16 TG T Wef T o G HR HEH Tgel 4l &1 I

Ans x 1. oty AFH AT

X, e s /‘\

va.aaﬁmaﬂﬂa {

x4.ﬂ'ﬂﬂ'a§w

Question ID : 8161613039
Status : Answered
Chosen Option : 1







Q.17 §4TS STgTST & 3T d SR HTA HAT AT? Ans
xl.mﬁmgéw

‘lz.ﬁnaaaﬁrawrst

x3.3~1?»T5|3T-:::-]33:ra;r

x 4. T AT AR 3R 370k STST A HaT
Question ID : 8161613024

Status : Answered

Chosen Option : 2

Q.18 STTERT 2020 e AT -20 3R <N HT 7 3791 & TR T TG 37 Uk T oraToll 3 3@ T ARG A T o
GIATHAR I 8?
X 1.9

xz.frsmrm

Ans

xs.g?ra’-\?m?

v, RTe Py
Question ID : 8161613038
Status : Answered

Chosen Option : 4




Q.19 ufag NN aeht ga @A o gae d
Ans X 1 sz wom

X 2w

X 3. i

o 4 gfas
Question ID : 8161613031

~ Status : Answered

sen Option : 4

T TR

T
a
g
Q.20 3 A F T $TRA T TGN BICT & AT T U iad-

Ans xl.amraﬁtaa'

J 2.1 9
x. ERCR=IC)

x4.a:{\3ﬁt$#ﬂ1

Question ID : 8161613027
Status : Answered
Chosen Option : 1







X R A G AT 7Icl HT I AT?

x 1. ST TH &, TS g5 IR ST T5ae

Ans

QPR TE S -
xa. 3 SR 2IBIE, Shd- TR Tidst 3R 9 % W[

QAT T GAH Y HH d 757 THG I " of UTH 3T ST 3 TohTH oh olT" THIIA T <o 7 IV 2019 & wAlelel

"4.a¥?ra°rgeém?,mémﬁé’rmsmmrrmam

Q.22 37 S 2019 Teh T T STTTehRT o ITTHR, R & J Foild 3TAR T & 5 of | AT AT &2

Ans 1.564
2.551

3.543

X X & X

Question ID : 8161613034
Status : Answered

Chosen Option : 4

4.547

Question ID : 8161613028
Status : Not Answered

Chosen Option : --




Q.23 fA=fafEa d & w14 figwam Rufsss oo
Tt & Ty TRk J 9 2 o ois

Ans  off 1. sisrE e @t

X 2. girm e
X 3. o e
X 4. g Rig v
Question ID : 8161613032
) Status : Answered
‘Chosen Option : 1
| NS e TS D
4

Q.24 AATTT AT FIA S < oTch TS 3T T IT (W7 3 ) 3 TT Teh IAY "o 1T &, SV 35 TR hlH T
22

Ans x 1. Sepdtel

Question ID : 8161613015
Status : Answered
Chosen Option : 1




Q.25 Fz TEHR & g dax & w9 § Fd &= arelt et Rerd Fo it wmon & g§ o2
Ans X" 1.1 e 1950

< 2.1 3o 1948
2< 3.1 31945
o 41381935

Question ID : 8161613022
Status : Answered
Chosen Option : 4




